Using

hat would be a good way to determin

the ACTUAL number of sasquatch
related incidents? In other words both th
reported and non-reported incidentEhe
Italian economistVilfredo Pareto came up
with a way The following is fromWikipedia:

The Pareto principle (also known as
the 80/20 rule, the law of the vital
few, or the principle of factor
sparsity) states that, for many events,
roughly 80% of the éécts come
from 20% of the causes.
Management consultant Joseph M.
Juran suggested the principle and
named it after Italian economist
Vilfredo Pareto, who noted the 80/20
connection while at the University of
Lausanne in 1896, as published in
his first paper "Cours d'écon-omie
politique". Essen-tially Pareto
showed that approx-imately 80% of
the land in Italy was owned by 20%
of the population; Pareto developed
the principle by observing that about
20% of the peapods in his garden
contained 80% of the peas.

Pareto for Sasquatch Satistics

(eight non-reported to every one reported).
According to Pareto, it should be 5:1.

Fourteen years have passed since
compiled my sasquatch statistics, so there ha
definitely been an increase in the total
number Here we can roughly use the average
of 128 per year (probably not less) and adc
1,792 to the total figureThis equals 14,577.

If you want to sort of “reverse engineer” this
number 2,915 were reported incidents, and
11,662 were non-reported.

With the advent of the Internet in the
early 1990s, there have been far more
reported incidents—mainly due to the ease of
reporting using email and the increased
number of reporting facilities (websites and
researchers). Had the internet been availabl
in 1903, | am sure the total number would be
far greaterFurthermore, people are a lot more
willing to come forward with information
now than in early years. It would be very
difficult to factor in these conditionall you
can do is say that the final number would not
be less than calculated.

Not many people like numbers, so | will
then the total number for this period was 23%nake things simple. If you have collected a
or 23.5 per year number of reports in your region, simply

The RATIO for the incidents is (235/47) divide the total number by .20 (ddrforget

Vilfredo Pareto (1848-1923). His 80/20
rule is widely used in business. It more
or less gives us the “rule” of nature and
can be applied to all aspect of human
interactions and processes.

What this means with regard to the5:1. In other words, for every reportedhe decimal in front)That gives you both the
sasquatch is that probably the reportegicident there were 5 non-reported incidentseported and non-reported incidents. Subtrac

incidents are just 20% of all the incidents.
All we have to do to get the total numbe

of incidents (reported and non-reported) is to

apply a little formula (.20x=Reported

This ratio would apply to any use of theéhe reported numbeand that gives you the
formula. non-reported numbekere is an example:
The BFRO has 631 published reports for

the Sate of Washington. If we apply the A. Reports Verified: 187
Incidents).This gives us the number of whichformula, then there were 3,155 report8. Pareto Total (A/.20): 935
counting those that were not publishd@the C. Non-reported (B-A): 748.

20% represents.

If we use the number of incidents intime frame is about 22 years (the BFRO

British Columbia over 100 years (all verified)started in 1995).This indicates that the

as our base (379), hesdiow it works:

.20x=379
x=379/.20
x=1,895

There were 187 Reported Incidents and

average incidents per year is 143. 748 Non-Reported incidentsThese two
Washington &te has 7.288 million numbers when added together must give yot

people; BC has 4.631 million, so there are fdhe total—in this case 935.

more “human eyes” iWashington than in Keep in mind that the 748 reports not

BC.Also, | think people in the USAre much submitted would have beeWVERIFIED

more “outgoing” than people in BC.reports had they been submitted.

This indicates that the total incidentd=urthermoreWashington has far more access Of course, if you think people in your

were 1,895 over that period of timEnis can to wilderness regions. Such in BC is veryegion are far more likely to report incidents,
be averaged out to about 19 incidents a.ye#imited. Another factor is that the weather irthen INCREASE the “.20” (which is 20%). If
However there were far fewer people in BCWashington is somewhat more agreeable thgou think 50% is a better number in your
in the early years, so this would have to be BC. The further South you go inregion, then replace the .20 with .50. Just
taken into consideration to get the true yearlashington, the better it becomes. In BC theome up with a percentage and change th
incidents. further North you go the worst it becomes percentage sign (%) to a decimal (e.g. 37% i
My grand total for all reported sasquatch37; 65% is .65 and so forth). | really woultin’
incidents in NorthAmerica (determined in go the other way (reduce the .20) unless you
2003) was 2,557 over 100 yearafter have a very good reason. Pareto kind of se

NOTE: If you verify reports and some or
many are discarded, they are not in this

coun.t becausfe they were 'f‘°t applying Paret® rule we get a total of 12,the standard here and he might get upset if wi
C(I)nS|dered valid reports in the first 785, reported and non-reported incidents ovéirdle around with this number
place.

this period.Again, if we average this, the
result (128 per year) doesnmean much

If we just take the 10-year period (200because incidents depend on people. |
to 2009) for which there was 47 incidentspriginally considered the ratio to be about 8:1
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